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S BHX AR O
T AHCH A XS] L HbA A=
2 2 »E&£X9 o) =A< p—
= (10273) WZ1(58W) o=2(91%) value
ol (:d) 62.5+13.7 61.8+16.9 60.8+12.3 0.698
71(cm) 157.1+9.6  157.5+10.0 158.6%9.5 0.552
25 A(kg) 56.7+11.1 55.1£10.4 59.1+£10.4 0.073
343 (%) 45 (44.1) 22 (37.9) 39 (42.9) 0.740
E 0 XH%) 28(27.7) 17(30.4) 29(32.2)  0.935
St X ALR O
324 = HP Y EEHA
O Jl5tE 2
r2A9 Wz _
(102%) WZ1(677)  Hza@ow) | vaue
¥ g 3.3+1.92 2.041.00 2.2+0.80 0.000
(no/L) (2.9) (2.1) (2.1) 0.000
QF ey 2.1+1.0a 1.541.090 1.47+0.91b 0.000
(ug/g cr) (1.5) (1.2) (1.2) 0.041
8% Fd 18.4114.5 19.7+14.9 16.8410.2 0.411
((ug/V) (14.0) (14.7) (14.1) 0.690
8% o} 437.9+363.3 510.1+£408.0 433.04+355.8  0.408
((ug/L) (309.0) (357.2) (288.6) 0.446
a5 ¢ 2.6+1.1a 2 4+1 42 2.9+1.1b 0.000
((ng/dL) (2.4, 1.8) (2.1) (2.7) 0.005
—_ 59 —




0.08-90.24
6.24 ~0.39

0.38-0.55
0.55-0.71
0.71-0.36

6.85 - 1,02

= 102-117
117133
1,33-448

HZX EY Y HEE =8 29 AT (contour 24 0.5mg/kg)
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HEX HEEH0 HE JIEE s
22 Na® LEX A=A
1 2 Al
o= 2.542.1 1.3+£0.7 1.5+1.0 1.440.9
o= (65)  (44) (37) (81)
== 71 et 1.2£0.9 1.6x0.6 1.5£0.9 1.5+£0.9
- (16) (2) (43) (45)
P-value* 0.015 0.628 0.941 0.670
ol % 3.6+1.5 2.3%+1.1 2.2+0.9 2.2+x1.0
8= (65) (44) (38) (82)
Bfacﬁ 71 et 2.66+1.4 1.0 2.2+0.7 2.1+0.7
- (16) (1) (42) (43)
P-value* 0.016 0.257 0.971 0.639
= = = HERIAIR Y
&5 535 2 (mg/Kg) f
35 73 A1) (4670) W27 % (2470) P-valuex
H=g PR EEAZ) 0.048(0.050) 0.025(0.026) 0.002
He 0.005, 0.225 0.006, 0.101
7181 ¢ 0.031 0.018
5 PF(EEHA) 3.510(0.844) 2.450(0.893) <0.000
9 1.408, 6.092 1.170, 5.038
718 & 3.407 2.301
LIE~ P EZFAA) 0.154(0.112) 0.157(0.087) 0.459
LB 0.043, 0.535 0.036, 0.325
7188 7 0.124 0.131
g WE(EEBRA) 0.061(0.049) 0.052(0.036) 0.213
w9 0.015, 0.253 0.016, 0.158
71887 0.048 0.043
ot B (EEAA 17.44(4.126) 16.61(3.881) 0206
AUz 7.452, 35.92 11.44, 30.26
sk 17.01 16.25
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HETANRF
N & X HEL HAH|W
CEXY AES -
21 =2 A P-
PELEZE  WFLEF  YPrEE  HFigz vaer
#Hx At izt |zt
YAl 230.9+155.3 244.0+169.4 214942059 22564192.4 0.821
(ﬁg'/gMg) o2l 296.6+139.8 262.2+1459 242.5+155.6 250.6+151.2 0.155
AA 267.7£149.8 255.3+154.0 230.8+178.0 240.4+168.9 0.284
G2 4.3+3.2 6.2+7.6 5.4%7.4 57475 0.474
?r‘n;'\/ﬂg SR 28122 3.0+2.4 2.3+1.9 2.6+2.1 0.646
A A 35+2.8 42452 3.645.2 3.845.2 0.232
G2 5.3+£3.6 5.9+3.7 6.1+5.0 6.0+4.5 0.955
(TJA}S oz 4.5+3.0 4.3+4.3 4.0+4.0 4.2+4 1 0.827
AA  48+33 4.944.1 4.914.6 49444 0.646
Male Female
o o 05
— R SO 8

05 \

R

b— ¢4

05
05 — \\
k 04 T
A
04 “ ~x

03

BM

BM
o
©

02

02

01

01

0 35-44 4% 55-64 65-74 >=75

35-44 45-54 55-64 65-74 >=75
Age

&F 22E 2A HR(BS:=EXY, CI:HXXIHT, C2:LHEXI2)
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